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1.When the conductivity of a semiconductor is only due to the breaking of covalent bonds, the semiconductor is called

a)

acceptor
b)

donor
c)

extrinsic
d)

intrinsic

2.A semiconductor diode is used to

a)

convert d.c into a.c
b)

convert a.c into d.c
c)

increase the voltage
d)

decrease the voltage

3.In a forward bias V-I characterestic curve rises linearly

a)

after the barrier voltage is overcome
b)

after the barrier voltage reduces to zero
c)

after the break down voltage
d)

after the barrier voltage rises to infinity

4.The relation between and is

a)

 =
b)

 = 1
c)

 = 1
d)

 = 1

5.The forbidden energy gap is maximum for a

a)

conductor
b)

semiconductor
c)

insulator
d)

metals

6.The truth table shown is for

a)

AND
b)

NAND
c)

XOR
d)

NOT

7.The current obtained from a rectifier circuit is

a)

varying direct current
b)

constant direct current
c)

half current
d)

eddy current

8.When an electric field is applied across a crystal of a semiconductor, the hole drifts

a)

in the direction of the electric field
b)

in the direction opposite to the electric field
c)

in a direction perpendicular to the electric field
d)

does not drift

9.We prefer common emitter configuration of a transistor for amplification because

a)

of large current gain and hence power gain
b)

of small current gain
c)

safety in operation
d)

of low power loss

10.To make a p-type semiconductor from germanium crystal it must br doped with foreign atom where valency is

a)

1
b)

2
c)

3
d)

4

11.Zener diode is used for

a)

rectification
b)

amplification
c)

voltage stabilisation
d)

modulation

12.With increase in temperature the electric conductivity of intrinsic semiconductor

a)

increases
b)

decreases
c)

first increases and then decreases
d)

first decreases and then increases modulation

13.Majority carriers in a semiconductor are

a)

holes in n type and electons p -type
b)

electrons in n type and holes in p type
c)

electron both p type and n type
d)

holes in both n and p type

14.In a full wave rectifier circuit operating from 50Hz main, the fundamental frequency of ripple would be

a)

100 Hz
b)

50 Hz
c)

25 Hz
d)

zero

15.An oscillator is

a)

like a generator
b)

an amplifier with positive feed back
c)

an amplifier with negative feed back
d)

rectifier

16.The base of a transistor is made thin and is lightly dopped in order to

a)

decrease the base current
b)

increase the base current
c)

save the transmitter from high current
d)

increase the emitter current

17.For use of transistor as an amplifier

a)

the emitter base junction should be forward biased and the collector base junction should be reverse biased
b)

the emitter base junction should be reverse biased and the collector base junction should be forward biased
c)

both collector and emitter junctions should be forward biased
d)

both collector and emitter junctions should be reverse biased

18.The symbolic arrangement given in the figure performs logic function of

a)

AND gate
b)

OR gate
c)

XOR gate
d)

NAND gate

19.In a common emitter amplifier = 100, the input resistance ri = 1k and the output resistance ro = 10k. The voltage gain of the amplifier is

a)

10
b)

100
c)

1000
d)

10000

20.The current gain of a transistor in CE configuration is 100. If the base current changes by 100A, the change in collector current is

a)

20mA
b)

100A
c)

2mA
d)

200mA

21.In atransistor circuit the emitter current is 1mA and the collector current is 0.95mA. The base current is

a)

1.95mA
b)

0.05mA
c)

0.95mA
d)

1mA

22.A LED is used in

a)

forward bias
b)

reverse bias
c)

an unbiased state
d)

none of the above

23.The process of superimposing audio frequency signal on high frequency carries wave is called

a)

amplification
b)

modulation
c)

detection
d)

rectification

24.A valanche break down in a semiconductor diode occurs when

a)

forward current exceeds a certain value
b)

reverse bias exceeds a certain value
c)

forward bias exceeds a certain value
d)

the potential barrier is reduced to zero

25.A transistor has an 0.95 then as equal to

a)

0.95
b)

19
c)

1.5
d)

1/19

26.Two sources are said to be coherent if

a)

they produce waves of the same wavelength
b)

they produce waves of the same amplitude
c)

they produce waves of the same wave length having constant initial phase difference
d)

they are of the same amplitude and same frequency

27.When a ray of light enters a glass slab from air

a)

its wavelength decreases
b)

its wavelength increases
c)

its frequency increases
d)

none of the above

28.The linear distance between successive points that have same phase on any wave is called

a)

amplitude
b)

frequency
c)

wavelength
d)

period

29.Which of the following does not support the wave nature of light?

a)

interference
b)

diffraction
c)

polarisation
d)

photoelectric effect

30.In young double slit experiment, the ratio of the maximum to minimum intensities in the fringe system is 9 : 1. The ratio of the amplitudes of the coherent sources is

a)

9 : 1
b)

3 : 1
c)

2 : 1
d)

1 : 1

31.In Young double slit experiment, the seperation between the slits is halved and the distance between the slit and the screen doubled. The fringe width is

a)

unchanged
b)

doubled
c)

halved
d)

quadrupled

32.Two coherent sources of intersities I and 4I are superposed. The maximum and minimum possible intensities in the resultant beam is

a)

5I and I
b)

9I and I
c)

5I and 3I
d)

9I and 8I

33.Polarisation of light proves

a)

corpuscular nature of light
b)

quantum nature of light
c)

transverse nature of light
d)

longitudinal nature of light

34.In air an interference pattern produced by two identical slits the intensity at the central maximum is I. The intensity at the same spot when either of the two slits is closed is I0. This means that

a)

I =I0
b)

I = 2I0
c)

I = 3I0
d)

I = 4I0

35.Laser light (630nm) incident on a pair of slits produces an interference pattern in which the bright fingers are seperated by 8.3 mm a second light produces interference pattern in which bright fingers are seperated by 7.6mm. The wavelength of the second light is about

a)

58nm
b)

580 nm
c)

630 nm
d)

580 m

36.color in a thin film results from

a)

dispersion of light
b)

interference of light
c)

absorption of light
d)

scattering of light

37.Two light rays having the same wave length in vaccum are in phase initially. Then the first ray travels a path of length L1 through a medium of refractive index n2. The two waves are then combined to observe interference effects. The phase difference between the two when they interference is

a)

2L1L2
b)

2n1L1n2L2
c)

2n1L2n2L2
d)

24n1L2n2

38.Two waves originating from sourcesS1 and S2 having zero phase difference and common wave length will show destructive interference at a point P if S2PS1P is

a)

5
b)

34
c)

2
d)

112

39.A mixture of yellow light of wave length 580nm and blue light of wave length 450 nm is incident normally on an air film of thicken 2.9104nm. The color of the reflected light is

a)

red
b)

blue
c)

violet
d)

yellow

40.Diffraction of sound is very easy to observe in day today life. This is not so with light . This is because

a)

s>l
b)

s<l
c)

sl
d)

none of the above

41.The first diffraction maximum due to a single slit diffraction is at 30 for light of wave length = 500 nm. The width of the slit is

a)

500nm
b)

10000nm
c)

250nm
d)

125nm

42.In a single slit experiment, the width of the slit is doubled. Which one of the following statement is correct?

a)

the intensity and width of the central maximum are un affected
b)

the intensity remains the same and the angular width becomes half
c)

the intensity and angular width are both doubled
d)

the intensity increases by a factor 4 and the angular width decreases by a factor 1/2.

43.Light appears to travel in a straight line since

a)

it is not absorbed by the atmosphere
b)

it is reflected by the atmosphere
c)

its wave length is small
d)

its velocity is very large

44.Which of the following phenomena is not common to sound and light waves

a)

interference
b)

diffraction
c)

polarisation
d)

reflection

45.A ray of light from air is incident on the surface of glass at polarising angle. It suffers a deviation of 22 on entering glass. The angle of polarisation is

a)

22
b)

56
c)

68
d)

34

46.The angle of polarisation of glass 58 and that for water 53. The angle of polarisation for glass from water is

a)

1tan58tan153
b)

tan53tan58
c)

tan1tan58tan53
d)

tan1tan53tan58

47.Choose the correct statement

a)

Brewsters angle is independent of the wavelength
b)

Brewsters angle is independent of the material of the reflecting surface
c)

Brewsters angle depends on wave length but not on the nature of the reflecting surface
d)

Brewsters angle is different for different wave length

48.In interference there is redistribution of

a)

amplitude
b)

frequency
c)

phase
d)

energy

49.To observe diffraction effects, the size of the obstacle

a)

should be of the same order as the wave length of light used
b)

should be much larger than the wave length
c)

should exactly be 2
d)

none of the above

50.If light is completely polarised by reflection at a plane refracting surface then the angle between reflected and refracted light is

a)


b)

2
c)

4
d)

6


